Quadratics 7.2/7.3: The Quadratic Formula

Quad Formula:
$$\chi = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$\begin{array}{ll}
(1)\left(\frac{8}{3}m^{2}-2m+\frac{2}{5}=0\right) \times 1s \\
40m^{2}-30m+6=0 \\
M = \frac{30\pm\sqrt{900-4(40)(6)}}{2(40)} = \frac{3}{8}\pm\frac{\sqrt{15}}{40}i
\end{array}$$

$$= \frac{30\pm\sqrt{-60}}{80}$$

(2)
$$\chi^2 + 2\lambda x = 1$$

 $\chi^2 + 2\lambda x - 1 = 0$
 $\alpha = 1 \Rightarrow = 2\lambda \quad c = -1$
 $\chi = \frac{-2\lambda \pm \sqrt{(2\lambda)^2 - 4(1)(-1)}}{2(1)}$
 $= \frac{-2\lambda \pm \sqrt{0}}{2} = -\lambda$

$$\chi^{2} + 2\lambda x = 1$$

$$\chi^{2} + 2\lambda x - 1 = 0$$

$$\lambda = 1, b = -2\sqrt{3}, c = -3$$

$$\lambda = 1, b = -2\sqrt{3}, c = -3$$

$$\lambda = 1, b = -2\sqrt{3}, c = -3$$

$$\lambda = 1, b = -2\sqrt{3}, c = -3$$

$$\lambda = 2\sqrt{3} \pm \sqrt{(2\sqrt{3})^{2} - 4(1)(-3)}$$

$$\lambda = 2\sqrt{3} \pm \sqrt{(2\sqrt{3})^{2} - 4(1)(-3)}$$

$$\lambda = 2\sqrt{3} \pm \sqrt{24}$$

$$\lambda = 2\sqrt{3} \pm \sqrt{24}$$

$$\lambda = 2\sqrt{3} \pm 2\sqrt{6} = \sqrt{3} \pm \sqrt{6}$$

$$\lambda = 2\sqrt{3} \pm 2\sqrt{6} = \sqrt{3} \pm \sqrt{6}$$

$$X = -b + \sqrt{b^2 - 4a0}$$
 discriminant

b²-4ac : if perfect □, then factorable if positive, 2 real roots if zero, I real root It negative 2 imaginary conjugates

Ex) Determine the nature of the roots.

$$(\chi^{2} + \frac{7}{3} \times + \frac{2}{3} = 0) \times 3$$

$$3\chi^{2} + 7\chi + 2 = 0$$

$$(7)^{2} - 4(3)(2)$$

$$49 - 24 = 25$$

$$2 real roots$$

Find the values of K for which

$$3x^{2}-2x+k=0$$
 has ...

(1) I real root

$$(-2)^{2}-4(3)(K)=0$$
 real robts (3) 2 imaginary
 $(-2)^{2}-4(3)(K)>0$ conjugates
 $(-2)^{2}-4(3)(K)>0$ 4-12K < 0
 $(-2)^{2}-4$

 $(\frac{7}{7} \infty)$

2 solutions:

$$-1$$
 and $-\frac{11}{2}$

$$\frac{5}{4}$$
 Sum of solutions $\frac{5}{4}$ = $\frac{10}{4}$ = $\frac{5}{4}$ = $\frac{10}{4}$ = $\frac{10}{4}$ = $\frac{13}{4}$

$$\frac{4}{4} \operatorname{product} \text{ of Solutions} \qquad \text{product of Solut}$$

$$\left(\frac{5+iJ_{31}}{4}\right)\left(\frac{5-iJ_{31}}{4}\right) = \frac{3L}{16} = \frac{7}{2} \qquad (-1)\left(-\frac{11}{2}\right) = \frac{11}{2}$$

Conclusion:

For
$$ax^2+bx+c=0$$

Sum of roots: -b, product of roots: c